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LISTENING TEST 1

Section A
Directions; In this section, you will hear 10 short conversations.
At the end of each conversation, a question will be asked about
what was said. The conversation and question will be spoken only
once. After each question there will be a pause. During the pause,
vou must read the four suggested answers marked A),B),C) and
D) ,and decide which is the best answer. Then blacken the corre-
sponding letter on the Answer Sheet with a pencil.
Example;You will hear,
You will read ; A)Four years.
B)Five years.
C)Four and a half years.
D)Five and a half years.
From the conversation, we know that the man has been learning
English for five and a half years. Therefore, you should choose
answer D on the Answer Sheet and blacken it with a pencil.
Sample Answer A B C @
1. A)She doesn’t want to ask ‘Mr. Jones herself.
B)She doesn’t want to work for Mr. Jones.
C)Mr. Jones may have broken the radio.
D)Mr. Jones might fix the radio.
2. A)Jason Daniels isn’t home right now.
B)The caller dialed the wrong number.

C)Jason Daniels can’t come to the phone right now.

s
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D)Jason Daniels doesn’t want to speak to the caller.
. A)Something happened to her car.
B)She wanted to visit some shops.
C)She got up too late to catch the bus.
D)Her car got stuck in the driveway.
. A)She’s tired of teaching.
B)She was dismissed from her job.
C)She’s changing jobs.
D)The school is too hot.
. A)She got up later than usual.
B)The bus was late.
C)She forgot her class.
D)Her clock was wrong.
. A)Looking for water.
B)Planting something.
C)Looking for something.
D)Getting dirty.

. A)America. B)England.
C)Switzerland. D)Sweden.
.A)7 : 55. B)7 : 45.
C)7 : 50. D)8 : 00.

. A)They both liked it.

B)Neither liked it.

C)The mother didn’t like it, but the father did.

D)The mother didn’ like it because it wasn’t in English.

. A)Play the guitar.



B)Teach them to sing.
C)Learn to sing.

D)Keep them company.
Section B

Directions ; In this section, you will hear 3 short passages. At the
end of each passage, you will hear some questions. Both the pas-
sage and the questions will be spoken only once. After you hear
one question, you must choose the best answer from the four
choices marked A),B),C)and D). Then blacken the correspond-

ing letter on the Answer Sheet with a pencil.

Passage I
Questions 11 to 13 are based on the passage you have just heard.
11. A)He told the conductor to open the window.
B)He told the conductor to shut the window.
C)He told the conductor to drive out the two arguing women.
*D)He told the conductor to first open the window and then
shut it so that the two arguing women would die.
12. A)He really meant to kill the two women.
~B)He was really making fun of the two women.
C)He was really making a fool of the conductor.

D)He wanted to show that he was cleverer than the

conductor.
13. A)on a train B)on a ship
.C)on a bus D)on a plane



Passage I

14.

15.

16.

A)Because he didn’t have any friends.

B)Because he knew none of his friends would be willing to do
the digging for him.

C)Because he was afraid that his friends would find his money
and the gun.

D)Because he thought his friends were too weak to do the dig-
ging.

A)Help the woman.

B)Dig up the whole potato field.

C)Take part in physical labour.

D)Look for the money and the gun.

A)Because he wanted the policemen to help with the digging.

B)Because he asked his wife to take care of the money and the
gun.

C)Because he didn’t like his money and the gun to be found.

D)Because he wanted to make fun of the policemen.

Passage II

Questions 17 to 20 are based on the passage you have just heard.

17.
18.

A)5: 00. B)5 : 20. C)4 : 20. D)4 : 40.
A)He took an interest in people around him.

B)He talked to some old women.

C)He played with the children.

D)He had a good rest.



19.

20.

A)He got up and ran after the car.
B)He put his hat in his pocket.
C)He telephoned the-police.

D)He emptied his pocket.
A)Before 5 o’clock.

B)At 4 o’clock.

C)After 5 oclock.

D)At 5 o’clock.



LISTENING TEST 2

‘Section A
Directions; In this section, you will hear 10 short conversations.
At the end of each conversation, a question will be asked about
what was said. The conversation and question will be spoken only
once. After each question there will be a pause. During the pause,
yvou must read the four suggested answers marked A),B),C) and
D) ,and decide which is the best answer. Then blacken the corre-
sponding letter on the Answer Sheet with a pencil.
Example; You will hear.
You will read ; A)Four years.
B)Five years.
C)Four and a half years.
D)Five and a half years.
From the conversation, we know that the man has been learning
English for five and a half years. Therefore, you should choose
answer D on the Answer Sheet and blacken it with a pencil.
Sample Answer A B C @
1. A)Six. B)Two. C)Four. D)Eight.
2. A)He’s coming home for dinner soon.
B)He’s eating now.
C)He’s sitting at the table.
D)He won’t come home for dinner.
3. A)514 Fifth Street.
B)415 Fourth Street.



10.

C)514 Fourth Street.
D)415 Fifth Street.

. A)She would like to invite Andrew and Mary now'.

B)She doesn’t like to have visitors.
C)She wants to go and visit Andrew and Mary.

D)It will take long time to prepare dinner for the visitors.

. A)The man lost all his keys.

B)The door needed repair.
C)The man couldn’t open the door.
D)The man didn’t want to enter the room until the woman

came.

. A)She would rather see a new movie than watch TV.

B)She would rather go to the park than see a movie.
C)She would rather go out than stay in.

D)She would rather stay in than go out.

. A)Mrs. Black. B)Miss Black.

C)George Thompson. D)Mrs. Thompson.

. A)His mother wants him to do his homework.

B)He has to finish his exercise.
C)He doesn’t know what time it is.

D)He is too tired to sleep.

. A)She doesn’t like what the man has said.

B)She is very glad to accept the man’s offer.
C)She asks the man to carry the suitcase for her.
D)She says she can carry the suitcase herself.

A)No doubt.



Directions: In this section, you will hear 3 short passages. At the
end of each passage, you will hear some questions. Both the pas-
sage and the questions will be spoken only once. After you hear
one question, you must choose the best answer from the four

choices marked A),B),C)and D). Then blacken the correspond-

B)Yes, if the car does not break down.
C)Yes, if there are no hold-ups.
D)Impossible.

Section B

ing letter on the Answer Sheet with a pencil.

Passage 1

Questions 11 to 13 are based on the passage you have just heard.
11.

12.

A)Because it got much smaller in the rain.
B)Because Mr. Ford could’t breathe.
C)Because the sweater fitted him too well.
D)Because Mr. Ford fell ill in the rain.
A)Because he needed a sweater.

B)Because the sweater was chedp.
C)Because the sweater fitted him very well.

D)Because the swedter looked nice in the shop window.

. A)Mrs. Ford was at home.

B)Mrs. Ford didn’t know her husband had bought a new
sweater.

C)Mrs. Ford was out.



D)Not a sentence in the story was about Mrs. Ford.

Passage I

Questions 14 to 16 are based on the passage you have just heard.

14. A)You should stay where you are and give a signal three
times.
B)You should walk around the woods and shout so that your
friends might hear you.
C)You should try to find your friends as soon as possible.
D)You should try to get out of the woods and shout for help.
15. A)You should shout that you are lost.
B)You should keep up the shouting or whistling always three
times together.
C)You should shout at the top of your voice.
D)You should shout or whistle once in a while.
16. A)Twice. B)Three times.
C)Four times. D)Five times.
Passage I

Questions 17 to 20 are based on the passage you have just heard.

17.

18.

A)In a big office.
B)In a small shop.
C)In a state university.
D)In a big factory.
A)AIl workers.

B)AII clerks.



19.

20.

C)Both clerks and the manager.

D)The article doesn’t say who.

A)Because he wanted to find out what Bill was doing there.

B)Because he wanted to see if anyone had his hair cut in office
hour.

C)Because he wanted to have a talk with Bill.

D)Because he wanted to have his own hair cut.

A)He pretended not to have seen him.

B)He left the barber’s immediately.

C)He tried to hide his face.

D)He greeted him with a smile.
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